Name: KC\J, Date:

Directions: Navigate to https://goo.gl/tCd8L4 to view the corresponding PowerPoint. Be sure

to click “PRESENT” in the upper right hand corner! Answer the following questions from the

by Hortensia Jiménez Diaz.

1. To understand how traits pass from one living being to its descendants, we need to go back

" .
in time to the Iq century and a man named C’h"(g oC Mendeld

2. By breeding the pea plants he was growing in the monastery’s garden, he discovered the

principles that rule mr(dit\l .

3. And in this second generation, he got both yellow and green seeds, which meant that the

green trait had been i\ ddl ¢ by the dominant yellow.
4. He called this hidden trait the y¢(c<Sive trait.
5. Now we know that these factors are called (k|i¢l¢S and represent the different variations

of a %C'r\c .

6. We can have what we call a homozygous pea where both alleles are _{dlent ca\l and

what we call a heterozygous pea when the two alleles are A\ £ berend

7. This combination of alleles is known as %moj % 'PC and its result- being yellow or green-

is called p\\u'\o TLj pe

8. The uppercase Y always O\I@’P(}Nc{ his lowercase friend, so the only time you get green

babies is if you have two lowercase y’s.

9. These days, scientists know a lot more about %U’\C,Jf'\ S and _hevediting

| &




Name: K(’.\I Date:

l
| Punnett Squares
What does DNA contain? (L7 ¢ mesome

Where is the information carried in the DNA? < CC} nence of n (h’U(‘\)( N hascs

Define gene +h¢ SCqnen(es 0f DNA 4ot helps o create and reguﬂmi pmﬁ:mg
Define genotype Hf\( combinahon of gencs \n @ Peyson

How many different chromosomes do humans have'-’ 25 How many of each?

2.

How many total chromosomes do humans have? Hle in o {'C&\

What do we call the first 22 pairs of chromosomes? _ AWTD S0 mes

What do we call the 23" pair of chromosomes? 5S¢ X

What karyotype do males have? XYy What karyotype do females have? b A

Define allele O\ € fevrent versions of & qene

Define phenotype Yhe ﬁh\fi Sical (P e fr N (C dhat  resuli Hom he ‘Oﬂfrcmi
What are the two types of genes? O\OW\ i Ma‘r and Y& CesSIvE

Define expressed 1< m¢ans that fhcxl alv\mu S dﬂf){a: as Hhe DMﬂoﬁjpc
What type of gene is always expressed? dum nant

What type of gene is only expressed some of the time? (¢(cssive
What does homo- mean?  S04Me What does hetero- mean? O{f £ Ga”cir'\j'
What does —zygous mean? \ol neA ‘h)crci'hef
Define homozygous ‘¢ Same allc\& haye LO 4! <c?\ ‘l’DC’\C,ﬂ’l 24
Define heterozygous _ A\ Lfuren t allelcS have (D e ‘I'OC{ etines
Circle the following genotype(s) that are homozygous: GG) Gg gg

Circle the following genotype(s) that are heterozygous: GG @ gg

Use the information in the table below to answer the following questions.

1. What is the genotype of an animal that is Allele Trait Type
homozygous dominant for eye color? & G Solid gray fur Dominant
What would this animal’s phenotype be? g Striped gray fur Recessive
A(ceyy €N Ts B Green eyes Dominant
J ' b Blue Eyes Recessive
2. What is the genotype of an animal that is T Long tail Dominarit
homozygous recessive for eye color? 12 " Short tail Recessive

. o
What would this animal’s phenotype be? £ Largeears I ——
b'\w:, EXjcs e Small ears Recessive
I



3. What is the genotype of an animal that is heterozygous for eye color? Bb
What would this animal’s phenotype be? 6'(CC A C\,J cS

4. What is the genotype of an animal that is homozygous for solid gray fur? (:j Ej

What would this animal’s phenotype be? sohid %‘rt% "
5. What is the genotype of an animal that is homozygous for striped gray fur? %g_
What would this animal’s phenotype be? A t,Dc,CJL f’\J [ \)f v
6. What is the genotype of an animal that is heterozygous for fur? C’JC
What would this animal’s phenotype be? Sohd f’{) rcg fAv
Description Genotype Phenotype
Homozygous recessive for tail length +t Short 4o g
Heterozygous for ear size E e Lavde ears
Homozygous for short tails £t Sho\fw fails
Heterozygous for tail length Tk long +=ils
Homozygous for blue eyes b blucd euces
Homozygous dominant for fur G G solid g "f\\fl o
Homozygous for striped gray fur 8 6 Sfr;'pw\() a v"c u anr
Heterozygous for eye color 6\0 ‘C’\ i’CC% -ev{C s
Homozygous for long tails =T V‘mn q + {J\S
J

What do we use to predict genotypes and phenotypes? PV\ Nnhctt So} WAYE.

Is the placement of the male and female gametes that important? _ 110, yow i) l ge:f e 3&2}6
- g g LNSH €

What does each box represent? (i ?OSSu ble combination o0f Acnc < .

Hhat m i(_\)h’r be Creatcd

What percentage does each box in a Punnett square represent? 25|y

How else do we describe the outcomes of Punnett squares? (1S @& raho

Complete the following Punnett squares and answer the questions go with each pair.
Use the table of information below to answer questions 1-4.

Allele Trait Type L 1 1u(d)xi(R)
G Green feathers Dominant NNl \ What -perce.ntage of
- offspring will have short
g Yellow feathers Recessive beaks?
L Long beak Dominant | Li | 5051-
I Short beak Recessive .




L |
L FLL LA
VLt |

2.U(3)xLI(?Q)
What is the ratio of long

beaks to short beaks in the
offspring?

5l

Use this information for
questions 5-12 on this page.

Allele Trait
T Tall
t Short
S Smooth peas
s Wrinkled peas
P Purple flowers
p White flowers

S 5
sgsSs
SSSSS

7. A plant which is homozygous

for smooth peas is crossed with a

plant that is homozygous for

wrinkled peas. What percentage

of offspring will have smooth
peas?

100° (.
T ¢
TITTITE
£ Tk |t

10. Tt () x Tt (Q)
What percentage of
offspring will be tall?

15,

Q 9
G |6alGy
4 faa |99

3. Two birds which are
heterozygous for feather color
are crossed. What percentage
of offspring will have yellow
feathers?

25},
P e
¢ ‘PP Fe
¢ [Pe_lee

6. Pp (J) xpp (?)
What will be the ratio of purple

flowers to white flowers in the
offspring?

g% |

£t
T |TE|TE
£ |k &R

G G
G (66 |66

9 141199

4.GG (J) xGg (?)
What percentage of
offspring will have green
feathers?

100CI o
<

S BS |5

S 5@, o5

5.85 (J) xSs ()
What percentage of offspring
will have wrinkled peas?

25
F
¥ PRIV
[ I

8. A plant which is homozygous
short is crossed with a plant
that is heterozygous for height.
What will be the ratio of tall
plants to short plants in the
offspring?

9. A plant which is
heterozygous for flower color
is crossed with a plant that is
also heterozygous for flower
color. What will be the ratio of
purple flowers to white flowers

A

S &
o [Ss [Ss
s |6s |S#

11.8S (F) x ss (2)
What percentage of offspring
will be heterozygous?
00" -

in the offspring?

Ed

i
v [PPIR
P Fe ler

12.Pp (3) xPp (?)
What will be the ratio of

purple flowers to white
flowers in the offspring?

31




Use this information for

questions 13-23 on this page.

Allele Trait
red eyes
brown eyes

large wings
small wings
brown body
vellow body

olw|s|[S|=|=

R«
R IRR|Rr

R [RR[R-

15. Rr () x RR (Q)
What percentage of
offspring will have brown

eyes? 2
O’k

C_C
R R |Rr
¢ lec e

18. An insect which is
homozygous recessive for
eye color is crossed with an
insect that is heterozygous
for eye color. What
percentage of offspring will
have red eyes?

50°,
w_oow
N\NNN
N Ww [ WW

21. ww (J) x Ww ()
What percentage of
offspring will have large
wings?

50,

B b
L [Bb | bb
b [Bb | bb

13. An insect which is
heterozygous for body color
is crossed with an insect that
has a yellow body. What
will be the ratio of brown
bodies to yellow bodies in
the offspring?

|

'S/
W WV NN

[ .
- \\IN N'N'
16. WW (J) x Ww (2)
What percentage of offspring
will have a heterozygous
genotype?

50°[.

W
w W vyl
w NN Wi

19. An insect which is
heterozygous for wing size
is crossed with an insect
that is homozygous for
small wings. What will be
the ratio of large to small
wings in the offspring?
[+
B b
B (6B |
b |Bb |bb

22.Bb (J) xBb (2)
What percentage of offspring
will have brown bodies?

15°(s

W ow

W IWH N
w IWNw W

14. Two insects which are
heterozygous for wing size
are crossed. What
percentage of offspring will
have small wings?

25

B B

b |E5&) Pb
b [Bb |Bb
17.BB (&) xbb (?)

What percentage of offspring
will have yellow bodies?

Ol

C r
Oln

SO L

R |Rr [Re

20. An insect with brown
eyes is crossed with an
insect that is homozygous
for red eyes. What
percentage of insects will
have red eyes?

1007,
¥ i
& |8y e
rKrr(

23.Rr (3) xrr (Q)
What will be the ratio of red

eyes to brown eyes in the
offspring? |




